
I 
[!] ~ ·;.:_,.,,ell 

E3U2·f 8 

>1~1~◄ etfi 
(Arithmetic Progression) 

S.l ~~~11 (lntrodpction) 

c~~llGile<tS ~ ~ • 8T ~~R>\!l <1~c.~t ~ l£l~ ~~(pattern) ~ 

WI 1 ~~l~<1~9f-. ~~ ~ 9ft~MG'!t~, Cil'lb1~<1 M~f)j~~ zjt<p~ RS'4lG~ ~ 

~fflc.<11c-1 , '6l1~lc-1)!◄ -'b*)!~~ ~ ~ ~ ~~ ~9f"C6t ~~J~ I 

~Nmt ~ ~1~~ Cl-f~MM isf1~~~ c~ c~c.~1$~1 ~MS~~fif ~ ~ 1 c"c.~1$~1 

~l-fl~<1tot MS~t~ ~'a, g . 

(i) ~~ ~ut b1<PMc-1 ~ '6lll<1~~ iSt~lc.'1 ~ ~~~c-1 ~ ~<fif6~ ~~ I C\!l'6~ ~l<1~~ 

l-fc-1~~ ~8000~~~~~◄ <1~C<1~M~ . 

(increment) 500 ~ m9f ~ ~~<1'1 ~ 

~'a, I ~'6~ l-fc-1~~ ~ ~9f\5) ~~' ~ ' 

~\5){1 .... ~~'<J~-
8000, 8500, 9000, ..... 

(ii)~~~~ "1~ Miil l~<1 cw4J ~9f"<11 '6ffi · 

)!~~I~ 2 ~.fiT.t<P (~ 5.1 cmt) ~ <1rn I 

~(.~<11(.<1 ~ ~M\SfG'f 45 ~.fir.~ I ~9f"<11 

'6~ ~ it~, ~w, ~~1sr ~··· ~ 

~1wi~~i.51'1<1 ~ ( ~.fit~) ~'<J-
45, 43, 41,39,37,35, 33, 31 

I 

-

-

WJf5.l 

I 
· 5 

(iii) ~ ~Ui ~~~ '51fbA~ ~ ~ ~-~ )11Ni~'1◄ ~'f ~ffl 4 ~'f ~ I 

3, 6, 9 ~ 12 ~ ~ sooo ~ F<lf.k~I~ ~ ~1'1" )f1Ni~'1 (maturity 



7 

128 . 

amount)~ (ijffl ~~) ~ 
10000, 12500, 15625, 19531.25 . . 

(iv) 1, 2, 3, .... ~~~~~<f~ ~ (~ 5.2 .C6Rn) ~~ ~~ ~<f5R 
~,~~ g l2, 22, Y , . .. . 

I . 

, . •·. . . r· . . 
, • I 

r--
15~ 5.2 

(v) IB~ca,~ ~~ ~C~<f)<t ~~$( <fl<f)b~ ~Ul<f)<t <RPI~~~~ 100 l;<fSl ~ ~ 
. ~ ~fQ><l~l<t ~ ~ ~'f 50 'G<f)!{<f) ~ 51"1 I ~~, ~'51~, ~'51$1, ~(. ... 
~ ~~~ <l!<f)IS~ ~ ffl ~'f (~ rol~) ~ g 

100, 150, 200, 250, .. .. 
(vi)~~~~~C<Jf>!~~<t~~~c~~~~tc<tl~~\51~~~ 
~~ ~ ~N5~tCA:~~<ll~~<f) ~ ~ C~~~ I~~ ~N>C<I~~ 

· ~ f>!~'!5<t ~~~ ~t.~Mt~ ~~fqrn~~~~~~W~<f) 
~~wt~(~ 5.3 C6Kl1)'1 .~~~ ~c~~l~ ~ ' ~ ~ 9f 
~ ~,~ ~~, ~,~h,, ~'51~: ... <It~~~~~ g 

1, I, 2, 3, 5, 8 .~ 
• 1 ~ ---. .. ---- ---·--------

2 ~ ----· - ---- - ---. -- ~ 
I ---• • .__ + 

3 & .. __ -- ----~ - ~ -·-- -.. I ' I 1 -5 ~ I ------~ & · ~ -., _______ ~ 
rr-..~~M,...,.,,,A ~ M,...,., ~·M-... ~ ~ l'YJ~ '---~ ~ ·- -, ~ • 8~~~~~~~~ 

WJJ 5.3 
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· '8~ \S"tf~<1'1>i}[~\!l ~ ~~1--i ~ -~ Cvf~ ~ I ~ ~ '5f1-£~fil<P 

~ (succeeding terms) 1!)1,f ~ ~,~ C<l'f5f ffl c~ <ffi:1, ~ ~'Gl f.wIB 

'1,~ ~"f ffl C91Krf <Trn, ~ ~ ~~11--1\!l -~ ~fil<P '1,~ <1"91 I 

~~ '61~)1.~ ~rrtii ~~ .'5flf{u~r~<l<i ~1..;i ~'t1~ f<r~CTI~-'6lfl'iT6--TI <rf~ <1 ''-!i 't~Rr~r 

'1,~Tll<lM~ '1°~ l!lij"f ~ ~,~ 8115f ffl ~ ~,~ C~ ~ I~~ C<PC-fl<P . 

Pf~\!l~ n~ 9fvf ~ nut ~~<P ~ 811~ \S~~f<I ~ ~ ~ l!l~~ :>J~~\!l 

Cl-t--1Rt--i \Sil~--!~ >i'1>!J1 ~ ~~ ~ 1 

5.2 ~~1t!<l !!~~ (Arith1netic Progressions) g 

~ml~,~ \!llWf<Pl:>J~~ ~~I 
(i) I, 2, 3, 4, ... 

(ii) I 00, 70, 40, J 0, , .. 

(iii) -3, -2, -1, 0, ... 

· (iv) 3; 3, 3, 3, ... 

(v) -1.0, -J.5, -2.0, -2.5, . . . 

l!l~\!>lWl<P~ ~ ~ ~,~ '?fff' (term)~ I l!l~ 1!1~"5l~<P~9Ri l!lut ?flr· 

fw'l ~ ~ ~ ~ ~ 911R<1~? :>J'&~\!lg C<PfC.TT ~ <rr ~ '61-£;)-)~"f ffl 

9ftM<rf I~ l!l"Rmt ~ 91(C<l~'1 ~ ~ ~~~C<lt<I fm~ I . 

(i)~· c~~\!l, ~ 9fq" ~ '6l'f~ 9i"tCGl\!5'c<P J ~ I 

(ii)~ c~~\!l, ~ 9fq" ~ '6l'f~ 9i"tlUl\!l{<P 30 ~ I 

(iii)~ ~~, ~ 9fq° ~ '5li~ ~ G'f~ 1 8115f ffl C91Rft <Tm I 

(iv)~ c~~\!l, \!llWl<P~ >i<PCiilf ~3 '5J~lk, ~ ~\!5t<l'5J1~ ~G'f~ o 

C<li5f (<ff mID'if) ffl C9ITTl1 <lRT .I 

(v)~ c~~\!5, ~ ~~'5li~ ~G'f51\5<rf 9Ri -0.5 81151 (<ff 0.5 m15f) 

ffl C91Kft <lRT I 

'6~ >i<PCiilf ~1M<PIC\!l ~ ~ C<T '5l1'5R 9i"tt'Gt<! G'f~ l!l'G:r ~ ~,~ C<T15f 

ffl ~ ~ C9f'lm <lRT I l!l~ ~~ l!l~ ~M<Pf\5 ~ ~,~ 1!11'1 Ji~I~◄ ~~ 

'(Arithmetic Progression,~ AP)~~~ C<Ptm ~ I · 

. ~, ~u-t >t~I~◄ et~ ~~ ~~til ~~~ ~~ ~IM<tSt ~ et~ 9illtt5tcl 

~l~cc{~~~r◄qM ~~$f ~l1t5M'Gi~ lilU't A~~~ ~~ffl c~<1rn1 

~~~Jf,~f1tt,1e4 >!~I~ ~~iNlt'G~'llt~~, (Common difference)~ I 
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~~ 81 ~~~,~ ~' ~<11~~'<f 91MI 

~~ ~1'1 }l~l~<l ~~ ~~ ~ a1
•~, ~ ~ a2~, ..... f!~ ~ -an~ 

~~~"f \51~~ d~ ~~~~I C-!>N5~f Ji~I~ ~~ ~'<f ai, a2, a 3, ••• , an I M 

~ a-a=a-a= ... =a-a 
1
=d 

' 2 I 3 2 n n -

Ji~I~ ~~ * MS~I~ ~9 ~~- _ · 
(a) ~~ m~ ~ \Qut ~ ~ ~ ~~ MqJli:i~<l ~ ~,~. ~~ . 
~ (<:6.~.\!l)~~-147, 148, 149, .... , 157 . 

(b) ~~,~ ~ ~ut ~~ ~~ ~ ->14Pl ~ ~ (~~ C~l)i:j.,,.+r'f8-~l15~\!l) Wffi ffl 
~(~~\!> Ji\St~ C91K11 'if~-

- 3.1, - 3.0, ~ 2.9, - 2.8, - 2.7, - 2.6, - 2.5 . , 

. ( c) ~ I 000 ij<ISf ~'R 5 % ~ ij<ISf ~ ~ ~~ ~-N5~AA~ ~ ffl 9ff.oo9 
(~) 950, 900, 850, 800, .. ... , 50 

( d) ~~~~I <r_ ~ XII CG1 ~ ~'ti<r J,JU(too ~ 911'8~ ~~ ~ 
"if~~ ~9 ~) ~ 200, 250, 300, 350, ..... , 750 

(e) ~~50~~~~~~~~~9~N5~~~ 50, 100,150, 
200,250,300,350,400,450,500 

~~'6~~~ \!)lfdi~t Ji~l~<l ~')iR>\!l m~~~'51151<tWRII <l)\~c.'GI 
C\!)l~l<Pll~~i:l C~ ~~ I · 

C\!)l~jzyilC~ ~~ ~ C<f, a, a+ d, a+ 2d, a+ 3d, .... (JT l!l'm .>t~1~1 ~~ f.w(xt· 
--~ ~ 2f~ ~ a~ ~~"f ~ d I ~~lGIC<-l)l_ >t~I~~ ~~ ~~ ~~ ~ 
( General fonn) C<W1 I 

~ ~ C<1 '6~ (a) <r ~ (e)~ \S"f~1'"iC<-l)~N5 ~N)c.GIC\!l ~fil~ ~,~ 9fVf 

~I~~ ~ut ~ ~~ ~ J.tillij◄ ~ (Finite AP.) ~ I ~9fR ~ 
ffl<l1 C<f~~R>t'Gte1 ~m~ 9Jif ~I ~~'61-!C~q<1 (i) ~ ~ (v)CG, ~t >1~1~1 

~~~'iC-:P~'Gt~~* ~~9 C>l~C<p~j~~ l=lill'I◄ ~ (Infinite 
AP)~ I~~~ ~5fN)M&lt~1 ~ 9jif ~~ I · 

~~,1!11'1>1~l~1~~mroi~1~«G1 ~~l<frl\<f)<f)~~~~~~~ 

· ~'<f? ~ ~~ ~ ~tf.lt~<K~ Ct{? '61'~, ~ ~~9 '61~1c.'G1 ~IHCfrl~ <[~ ~~ 
~? (.\!)l~IC&ll~ ~ ~ 8f ~~ ~ ~l~tci:ll# ~~ 9jif ~ ~~'t ~ 
'!UlrGIC<l ~rnl\St~ ~~ I . . . 

\Sql~<l .. ~91 <ffl ~~ 9f'f a<r ~ 6 ~ ~~9 ~ d ~ "("Tb 
3 

· ~ 
-41-i ~' ~ "l~l\!I~ 



JJ 1 

~~~'<f- 6, 9,12, 15, ..... 

~a== 6$d=~ 3 ~ ~APCGl~~- 6, 3, 0,-3, ..... 

JI~~ 

a = - 7, · d = - 2; ~NHll AP C6l ~'<f - 7, - 9, - 11, - 13, .. . 

a= 1.0, d = 0.1, ~K!i~l AP C6l ~'<f 1.0, I. I, 1.2, 1.3, .. . 

l K!l ~ - l I 
a= 0, d = 12' c~ ~I AP 1.111 ~'<f 0, 1 2 '3, 42' 6, ... 

a= 2, - d=·o, ~K!i~I AP C6l~'<f 2, 2, 2, 2, .. ~ 

~~ C\!)l~IC'4IC<tS a~ d74~~, ~Ji111I~ ~~ ~~ 9flml I . 

~ ~~ '6l~~ICG~f ~? ~ (.\!)J~ICGil<tS<fS. ~ ~,~ ~ \!)IM~I ~~ ~ ~ 

~~ ~ Jii111~~ ~~ ~ ~ <t>'<f 9flM<tlC~ ~ ~ ~ a$ d 44 ~ 

'@M~l<t 911M<t1C~? ~ a C61 ~~ ~ $ ~ f.t'm <f>ffl ~ I ~ ~ ~ 

~ ~~ ~ut74 '611~ ~ '1~ d C<ll'if. ~ ~ ~ C9"m <Im I "J1N,C<tS 

MC<fS~I ~ ~ut ca,~~~~~~ Fmlt"J1 <tSM<Pl~d74_~ C9'K1t <Im I~~ . 

~~utAR~~~"C<tSI 

~~9f·~~IM<tSI~ caiK1t ~ 

' 
6, 9, 12, 15, ... , 

a -a ·=9 -6=3 
2 1 ' 

a ~a = 12-9 ~3 
3 2 ' 

a -a =15-12=3 
. 4 3 

~ ~ ~Jil~ ~C<tSIC~I ~ '8~-~ ~ 9ft(<tSJ. 3 I "J1K!IC<!S ™ ~1~<151~ ~ut 

, AP~ ~<T174 ~~ ~ a74 '$f 6 ~~~Gf ~ d~-~ 3 I 

. 6, 3, 0, - 3, .... ~~ ~l~<fSl~<tWl 

a
2 

- a
1 
= 3 - 6 = - 3 

a -a =0-3=-3 
3 2 · 

a -a =-3-0 =-3 
4 3 

~~~ ~ut AP~~~~ 6 ~"ll~Gf ~-31 

~~~, ~ijt Jii~l~q ~~ al' a2' .. . , an 44~~ ~ 
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d= ak + 1 - ak ~' aH 1 ~ ak ~ ( k + 1)~~-~ 9fvf I 

l!!Ul >!~1~ ~~ d~'rn <PM<l1 ~q a? - al' a3 - az, a4 - a3, ... . ~ '5lro1~C<111 

~'rn ~ ~C~1\S1il ~I~ ~C<PlC--11 l!l~ ~ \SWl~ICG'J~ ~~ I 

l!l~, I, I, 2, 3, 5, ..... l!l~'!l~1~ CFIK111 l!l~f.:l ~<P'<l 9ftf/4<11 C<I file<PIC--11 ~ 

'6~-~ ~ ~ .IQ"C<:p ~ I ~ IQ~ >!'-II~ ~~~I 

~ffl<TT C<l, 6, 3, 0,-3, ..... l.!!~>!~1~<1 ~")iN)Cf,~ d\S~~l<l<P~t~~ 3~~ 6 

mID5'f <PM~CG11, ~ 6 <f 9f<1t 3 mID'if <:p<1j.{lfu:cGfl 1'51~~ ~~q~~ffl~ (k + 

I)~~~~~ (k + 1 )~ ~~ ~ ~ mID5'f ~~I 

~ ~ M>~l--l \Sql~-ii1~ >i~rn'!> IQ~ ~'ftCGt '5lf~ ~ ffl °G1\S I 

3 1 3· 
~~ i ~ a = - d = - - - = - I ~~ i'!>, 2 ' .· 2 2 . 

~ ~ ·QT ~C<PICi!I ~ '6~-~ ~91<ft ~ d \5~$11<1 ~' ~ ~ 
~ QT ~,~lf<la,t<P >i'-11~<1 ~5iN)\!) '5fM I . . 

1,.,,~◄ct 2 g ~ ~,~ '!>1W!<PIM&Jl<P1 C<:pj~f<leilC<15 >!'-11~~ ~~ ~ <f)MC~ "t ~ l!l~ 

M&Jl<.<P >i'-11~ ~~ ~-~ ~~ ~N)tGtt~ ~ ~ 9fq M~ 1 

(i) 4, 10, 16, 22,... (_ii) 1, -1, -3, - 5, ... 

(iii)-2,2,-2,2,-2,. .. (iv)l, 1, l,2,2,2,3,3,3, ... 

~~ ~ ( i) ~' a
2 

- a 
1 

= 10 - 4 = 6 

a3 - a1 = 16 - 10 = 6 

a4 - a3 = 22 - 16 = 6 

'51~~, ~N><ll4C\!5 ak+ 1 -ak ~I~~~,~ '!)jWj<:pj~ -.!lm AP~~ . 

~~~~'f~d=61 

~ ~ 9fq 1fG122 + 6 = 28 ~ 28 + 6 = 34 . 
• 



a3- a2= - 3 -(-1)=-3+1=-2 

a4 - a3 = - 5 - ( -3) = - 5 + 3 = _ 2 
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~~~ ~N><11<1C'!> a k ,. i - a"~ I ~ ™ ~1~<Pt~ ~'G'f AP ~. ~ 
~~~ct~ d = - 2 

~~~~~ -5+(-2)=-7 ~ -7+(-2)=-9 

(iii)a2 - a1 = 2 - (- 2) = 2 + 2 = 4 

a - a =-2-2=-4 
3 2 

Ric~~a2 - a1 -t= a3 - a2 , ~$roJJ,~~l~<P~~mAP~~I 

(iv) a2
-a

1 
= 1-1 =O 

a -a =1-1=0 
3 2 

a
4 

- a
3 
= 2 - 1 = 1 

~' a2- a1 = a3 - a2 * a4 -a3. 

5iN)C<tS ~ ~,~ ~l~<P~ ~ijl AP~~ I 

~~~1 _,-J ~1 rr.1~-, , • 

1. ~ 9lR~F<lG41<P1 G1~•Jf,~~1f<liil1<r1 C<P1~F<lG41C<P >i~l~1 ~~ 

~<Pm~~~? 
(i) ~$l~ ~~ 15~~~~~\51N)M'@~CG41filt11~ 

s 'Gcqsft4 ~~ ~ M5tG41~'Gm ~ ~ ~ 1 

(ii) ~m c~ ~~ 9111 c~1:~~ ~ ~~ ~~ ~~ ~ ~ ¾ 

'5f,xt ~ <tSMtiil ~~~ ~ ~ m ~ 8rK11 ~ 

ffl't I 
(iii)~ijl ~ ~ ~${ ~'G~ ~ 150 ~ ~ ~ ~ ~ 50 

'G<tSlt<IS ~ ~~~~~~~I 

(iv) 10000~~ 8 % ~~ (compound interest)~~ <tSMCiil ~ 
~~~ ~ ~ ~ G151't ~ 9tm1't I 

2. ~ ~~ ~ a ~ ~~'t ~ d ~Gi~ m1 ~~, ~ ~ AP~ ~~ 
~~~~g . 



(i) a= l 0, d = 10 

(iii) a = 4, d = - 3 

(ii) a 2, d O 
1 

(iv) a= - 1,d= 2 
(V) a =_ I 25 d = - 0.25 

. ' ~~'Blfl g 3. ~ firn1 Jit~I~ ~'ilN>Jit~~~ 2!~ ~ ~ ~~'1 . 

(i) 3, 1, - 1, - 3, . · · 

(i) 2, 4, 8, 16, ... 

(iii) _ 1.2, - 3.2, - 5.2, - 7.2, . . . 

(ii) -5,-1, 3, 7, .. · 

(iv) 0.6, l.7, 2.8, 3.9,. • • 

(ii) 2, 2., 3, 2., .. · 
2 2 

(iv) -10,-6,-2,2,. • • 

(v) 3, 3 + ✓2 , 3+ 2✓2, 3 + 3✓2, ... (vi) 0.2, 0.22, 0.222, 0.2222, .. • 

(vii) 0, -4,-8, - 12, ... 

(ix) 1, 3, 9, 27, ... 

" ) ? 3 4 ( x 1 a, a-, a , a , . . . 

(xiii) ✓3, ✓6, ✓9, ✓12, . . . 

(xv) F, 52, 72, 73, ... 

I 1 I 1 
(viii) - 2' - 2' - 2' - 2' .. . 
(x) a, 2a, 3a, 4a, ... 

(xii) ✓2, ✓8, £8, .Ju, .. _. 
(xiv) l2, 32, 52, 72, ... 

5.J 'fSJ~ $~ n~ ?fW tnth 't·erm or an AP) 

'51-j_C~ 5.1\!) ~~ ~ ~~~ ~ ~ ~~ C91Kl1 ~\S~t~~'im1 
~ ~~~I ~<P ~ ~ ~ 8000 ~ ~ ~ 500 ~ <l~C~~~lt 
~ ~R,\!) 1:il~~CGl ~~I 91~~ ~ ~'8~ ~ ~ ~ ~~? 

<!I~~ ffi ~ <itdcl!> Clo'e<t Wm ~ ~ ~ ~ ~ !I~ ' 
cml~'B<P I 

~~ ~'<! = Rs (8000 + S00) = Rs 8S00 I <!il.<1>~C<! '1''6J~, ~~"'""" 91113"!~ 

~~ ~ffi f.Mi1<1 <11c<I ~ 'of151<1 ~ ~ ~ f.l'rn<! <!WI :,:t\Zbd;tc<I '!i!!'lM 
~~l~Gil ~~~~~~ 500~ 8115t~~ ~ I 



~ ~ ~ ~l~~ ~ = (8500 + 500) u<Pt 

= (8000 + 500 + 500) U<Pf 

= (8000 + 2 X 500) U<Pf 

= [8000 + (3 - }) X 500] U<Pf 

= 9000U<Pf 

= (9000 + 500) U<Pf 

= (8000 + 500 + 500 + 500) ~ 

= (8000 + 3 X 500) U<Pf 

= [8000 + (4 - 1) X 500] U<Pf 

= 9500U<Pf 

= (9500 + 500) U<Pf 

= (8000+500+500+500 + 500) U<Pf 

= (8000 + 4 X 500) U<Pf 

= [8000 + (5 - } ) X 500] U<Pf 

= IOO0OU<Pf 

~ ~ c.<T I!)~~ c~ ,r,~ ~lM<pf~ ~'Gi 

8000,8500,9000,9500, 10000, ... 

1!1~~,~ >t~l~<l ~'fl~~ ~I (ffl?) 

·~ 

~~ -e~ 1!1~ '5l1f¥d,t ffl. c~l~lliii~ ~~ ~ ~ ~l~Gi! ~ ~ ~~ ~~ 

9l!M<tll~? 15~ ~ ~? 000 ~ >j~~{iij(.<p mffl ffl ~ ~ ~ 25~ 

~ ~l~ffi ~~~'<I?~~ ~ ~~<tl<1c.~ '511~ ~ l-t<1~~<1 G'f~ 

soo 't;<pfc<p C<rt~ ~~I l!l"a:~~{l!CGI ~ <Pm 9'lM<t~? D('6m-, ~ 1 ~~ 

C~l~lc.iiil~ -e~ Nil~~~ ~'ft~ <Pm~ I 

15~ ~~ ~l~ffi ~ = 14~ ~ .Jl~Gi! ~ + 500 u<Pt 

= 8000 + I)~•, + 500 I)~•, 
[ 

500+500+500+ ... +500]~ ~ 

13~~ 



UH flfq 

'\wf~ 6: 30 I ~\~ 5, 11, 1 7, 23, .... tfl~~\~ \!)1Wl~t~ ~ 9fvf ~~ ~ 
fll 

't:at1"il s~ 911-4 C<J , 

a - a = 11 - 5 = 6 a - a = 17 - 11 = 6 a - a
3 

= 23 - 1 7 = 6 
2 I '3 2 '4 

~ k = 1, 2, 3, .... ~'5.11M<l <fl"l<f ak + 
1 

- ak <f ~ ~, "f1N5(.<f) ~ ~\~ 
~ >t~l~<I ~"ijN)\!) ~ I 

lfl~, a= 5 ~ d= 6. 

~ ~~. 301 ~\~ I.!!~ >i~l~cil ~°'iN>lt,~ n~ 9fvT I 

~~ C<J, a
11
=a+(n- l)d 

30} = 5 + (n - 1) X 6 

301 = 6n - 1 

302 151 
n = -=-

6 3 

~ n tfl~ ~ '5l~ ~\~~'<I~ (ffl ?) I 

~ 301 ~\~ $ro \!)tM<M~ l.!j~ ~~I 

~•~~ 7 : ~ '5l\c:rf<l~ ~\~ ~~r-wt 3C<f M~11STJ? 

JOO$ i 3 C<l f<l~flSTJ ~ \5l\~ ~\~ ~~-
12, J 5; 18, . . . , 99 

~~\!) ~ ~~ '5l1C~C--l ? ~~I 

~' a= 12, d=3, a"=99. 

a,
1 
= a + (n - 1) d, 

99 = 12+ (n --I)x3 

87 = (ll - ] ) X 3 

87 
n-1 = - = 29 

3 
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~~~ ~-n=29+1=30 

~ 3 ~ f.it\!itlSiJ 21Jl ~~~ ~~'<)JI 301Jl ~ I 

~t~'t H ,~ I 0, 7, 4, . . . , - 62 ~~ >1~1~ ~51N)<.GI~ ~ ~9Ml (~~ ~ 

~lGiCiil) 11~~~~1 

,r.-.rt~~ ~~. a = 10 d = 7 - IO = - 3 l = - 62 
' ' ' 

~ l = a + (n - 1) d 

~ ~~ 11~ ~ ~'RI <PM«iil ~~ '5l@r ~'1JN)cu,~ ~ ~ ~~~m ~'™ 
~~, 

~ -62 = 10 + (n-1)(-3) 

~~~ - 72 = (n - 1)(-3) 

'51'~~ n - 1 =24 

<i1 n=25 

~ AP~ 251Jl 9flf ~I 

~.~~~II~~ ~'1iN)lG1<1" 15~ 9flf ~'<f I(~~. ul~ m 
14~ ~ ~'<f c.--ll~t~ I m ? ) 

~. a
15

= 10+(15-1)(-3)= 10-42=-32 

:. C"i?;!1~1iil~~ 11~ ~~'iii _;., 32 I 

~ Jr,..~ (Alfenutf•ive Sotutitm) i 

<W1 ~ ~ >!~1~ ~~ ~~fufc<P fm~, c.~~~I a= - 62 ~ d = 3 (m ?) 

~ ul~ ~~'<fa~~~~~>!~~~ 11~ ~ ~'RI fl I 

~' a 11 
= - 62 + (11 - J) X 3 = - 62 + 30 = - 32 

~ 11~ ~~Gt, FTCT>f~~ 9M, ~'iij ·- 32 I 

~t~~ 9 
i 1000~ ~ 8% ~ ~~ f<lHC?-1151 fl ~'iii I ~N)<l~~ ~ ~ 

~ ~'<f 51'1-TI fl I ~ ~~ ~~ u!Ul ~~ ~~ ~ <P~Cil ? <W1 ~. ~~ 

~~ >t~~~ 30 ~ ~ ~ ~"f ~'fir fl I 



1-'0 

P xR xT 
1=--

100 

~ ~~~P:f~--~~ ~ ~ = 1 000 x 8 x 1 ~ = 80 ~ 
·,i_~ 100 

= IO 00 x 8 x 2 ~ = 160 ~ 
100 

} 000 X 8 X 3 ~'51~~~~ = 100 ~=240~ 

-!lC~~C<I ~ ~Qf' ~ 91~~, ..... ~ ~ ~ ~ ~~ ffl<I" 9fMI I ~ 
~~, ~' ~'51$1 ..... ~~~~'cq (~~~) ~ 

80, 160, 240, ..... 

~ '6~-~ ~ ~ 911~ 80 '5lQft~ d = 80, ~ ~\~ -fl~ \!llWl~l~ -!lUi 
AP~~l~~a= 80 

<!l~ 30 ~~~~'I ~'Bl~~~ a
30 

~9$1 ~~I 
-fl~, a

30 
= a + (30 - 1) d = 80 + 29 x 80 = 2400 

~ 30~~~~'<:f 2400~ I 

~~~ 10~ ~-!1~~~~23 ~911,~~21 ~9ft,~'6HI~ 
19 ~911 ~\!lJlM'c<P C'ifJG119f ~~~I ~ ~ 5 ~9ft Cfl91 ~~~I 
~~~Cfl~~~~? 

~.i1~ i ~~, ~' ~-··· ~ ~ C~91 ~ ~~,~ ~ 
23, 21, 19, . . . , 5 

~ )1~1~~ ~~~(-ml?) I ~~'G'f ~~ ~ Cfl~~~,~ n I 
a= 23, d = 21 - 23 = - 2, a = 5 

n 

~ a =a+ (n - 1) d, ~c~ ~ 9\1'8 C<l n 

5 = 23 + (n - 1 )(- 2) 

- 18 = (n - 1 )(- 2) 
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11 = 10 

'51-l_~ 5,2 

1. ~ ~ l<J >!~I~ ~~ ~~ ~ a, ~~q ~ d ~ n~ ~ a I~ 
n 

\!)l~<:fS1~ ~ ~1~>1~~ ~q ~-

(i) 

(ii) 

(iii) ' 

(iv) • 

(v) 

2. ~ ~N><.'GIC◄ ~qi ~'-8~<.Ut <ttf~Jsf~f-8~ ~fflq ~C-ft{lt­

(i) IO, 7, 4, . .. , ~~ >!~I~ ~~1~<.'Gf~ 30~ ~ 

(A) 97 (B) 77 (C) -77 

(ii) - 3, _ _!_, 2, . .. , ~~ >!~I~◄ ~'51~<.'GI◄ I I~~ 
2 

(A) 28 (B) 22 (C) -38 

(D)-87 

(D) - 48_!_ 
2 

3. ~ >l~t~ ~'51N>Ji~~"1 ~t'il\:l~ t<P~GM G'j_~ 'YjqJ-1~~ ( missing terms) ~Gfu ~-

( i) 2, □, 26 

(ii) □ , I 3, □, 3 

□ □ 9! (iii) 5, , , 
2 
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(iv)-4, D, D, D, D, 6 

(v) □, 38, □, □, □ , -22 
4. 3, 8, 13, 18, . . . , >i.i1~<\ ~'1iN)(.6F{ (.~1--1 (.61 ~ 7 8 ? 

5. ~ ~ >i~l~ ~~ ~ ~~~ ~'rn ~ ~ 
(i) 7, 13, 19, ... , 205 (ii) 18, is½ , 13, ... ,-47 

6. 11, 8, 5, 2 .. ... 1£1~ >1.il~<t ~'1iN><.'GR -150 ~~~ ~ ~'m ~ ~>;q ~ 
~fll 

7. 1!11'1 >i~l~<\ ~~ 11~ ~ 38 ~ 16~ ~ 73 ~1Ff ~ 31~ ~ 
~'rn~I 

8. 1£11'1 >i.il~ ~~ 50 1'1 ~ ~ ~ '{)'5hl ~ 12 ~ C:'t<r ~ 106 I 
29~~~~~1 

9. ~ 1£11'1 >i.il~ ~~ '{)\51~ ~ ~ ~ ~ ~ 4 ~ - 8 ~ ~ ~ 
~l--1<.Gl ~ ~ ~~? 

10. ~1'1 :>i~l~ ~~ 1 ~ ~ 10~ 91'-TCGl~W 7 \51~~ 1 >l~t~<\ ~9\NS(.GPI ~ ~ 
~~'rn~I 

11. 3, 15, 27, 39, . .. >i.i1~<t ~~ C<:tSl--\<.61 ~ 54~ 91q\!i'°t<:{) 132 '51~~ ? 
12. ~ >1~1~ ~~ ~~~ ~ ~~ I f>l~~<I 100~ 9fq ~ 911~ 100 I f>t~~<\ 

1000~ 9fvf ~ 911~ m1--I? 
13. ~~1~1'1 ~ ~ ,<P£'0 ~,~ 7~ M~1\StJ? 

14. 10 '5fP\;250~~4~~~~~1~1'1~? 

15. n~ f.$~~<l"Wr 63 , 65, 67, ... ~ 3, 10, 17, . . . ~~>1~1~<1 ~~~ n~ 
9\q~~? 

16. ~~ >1~1~<t ~~ '{)'61~ ~ 16 ~ ~~ ~ 91~~ 9l~RG1~~ 12 ~~~ I 
>l~l~<t ~~ ~'ffi ~ I 

17. 3, 8, 13, . .. , 253 ~~>1~1~<1 ~9\K!)(.GR ~ ~~ 20~ ~ ~'ffi fl I 
18. ~1'1 >1~1~<\ ~~~(~~ 9lq ~ 8fl~ 24 ~~ ~~ 91q ~ 

C<l't~ 44 l >t~1~ ~'1iK!)<.GR ~~ ~ ~ ~~ ~ I 



14.J 

19. t 995 ~ t>-lr--l~ 5000 ~ <1~~~?-11 q~~~l\!l Dfffl ~<!)Mc.iii~~~ 

200 1'<Pfc<P ~ (Increment) ~ <PM<ft1 I ~ ~ ~~ "t~'-1~ 7000 ~ 

~'<!"? 

20. ~'f c.<Plc--lt \QU'f ~ 2f~ ~~ 5~ ~~$l <PM<.Gi ~ ~ ~~ ~~~ 

~ 1. 75 b<P1~ ~C5i ~In~~~ 05'8<1 ~~~~~ ~~ 20.75 

U<P1 ~~ n<I ~ f.t~ ~ I 

5.4 ~~la◄ t!t~ ft"~ ,,lti ~ (.tft,tt,a, (Sum of f'irst,; Tcrn1s of an AP) 

~ 5.1 '61-!c.~q\!) ~ ~ \Sl-tl~~'"tcGl '61lc.~ ~ ~t'Gt\!) fB~Cftl~ ~~ 1$f)c.{l<P~ 

~~$[ <ll<Pti\!) ~ ~ \Q~ ~~ 100 ~ 

c~ ~ ~ ~ ~\51{1 \ST11M--i\!) 150 

~, ~\51{1 'St11Mil\!) 200 ~ ~\!)JIM ~~ 

~ ~ ~ ~ C~ I Caj{llGii\ST-{1~ <fWf 

21 ~ ~~ ~ ~~~ <ll<Pb\!) ~ ~ 

~~'<r? 
C~J{l!Gil'St-ll~ ~~, ~'51~, ~'51~, ~( ... 

ISi--JJM--1\!) ~~~ <tl<Pb\!) c~ ~ ~~ 
21~\ST--JJM--fC~C<P~ 100,150,200,250, 

.. .. I ~~ ~ 2 1 ~ 'St11Mil\!) .~~$1 <ll<Pb\!l 

~ ~ ~ ~~ f.l'rn <PM<l{G1 ~~ ~~ 21m ~,~ ~ ~ e<n5i ~ ~ 1 1-Q~ 

Y!qiN)c'Gt '611~~'1Hl<P ~ >1~a.1<11ffi ~ --t1~1<11<.--i? \Q~<Pl.ic'Gt ~ts~~ 9i1M<ttc.--l? 

l!l~~~'<r <IMC.~~~~ ~~i<PG'JC&l~m<f \QU'f ~tswrnt<T ~ I ~{11(.<P~ 

Df'e~ I 
'>tl\S~ ( \Q'8~ ~ c\!)l~ICGil<.<P 2!~ '61~ 9l@~t) ~ ~ IO ~ ~IUqSlc.~~ 

we~~~ <PR<t~ -Rm "5l,<Pc'Gt<.<P ~ ~ 1 05'8~ 1~ 9f<fl 10001 ~~,~<P ~ 

~~:~1Jl>t~~<i1 ~~ Wirnl<t'CGi ~ ~ I 05'8 \!)~~ct!~ C<TI~ 5050 ~'<I' <ffef ~ 

~ I (\!)t~!Cftll<.<P '51~1~ ~ 9f1MajC~ 05'8"(_;ff C<PC~~ ~~ "<pj~(.Gj <PMRci? ~ 

~g 

S = 1 + 2 + 3 + . .. + 99 + 100 

~ ~ ~ ~,~ ~(ftl[G~ ~ ~ 

S = 100 + 99 + ... + 3 + 2 + 1 



-fl~~C<l191~~ 
2S = ( l 00 + 1) + (99 + 2) + . .. + (3 + 98) + (2 + 99) + ( l + l 00) 

= 10 I + 101 + . . . + 101 + 101 (100 ~) 

~ s = l 00 X 101 = 5050 '5{~~ C<f151<JSG1(.&t = 5050 ,11\!l(.~~. 2 ' 

-fl~ -fl~ ~ ~ -flf5m a, a + d, a + 2d, .... 1.!1'$_ )J~t~1 ~51N>c.G~ ~~ n'm 
~ 811~ 'Zs\dB1l<1{G1 <IJ{l~ ~ I 

\fl~AP~ n~ ~a+ (n - 1 )d I~ ~'iii, l.!l~AP~ ~$T nm ~ 811~ S I 
~'5f@i91'1~ 

S = a+ (a+ d) +(a+ 2d) + ... +[a+ (n - 1) d] .... (1) 
~ '81fa'ffG~01 ~ ~ 91'\'8 

S =[a+ (n - I) d] +[a+ (n - 2) d] + .. . +(a+ d) + a .... (2) 
(I)~ (2)<P ~11~01 81151 <pMCiii 9ft~-

[2a + (n - l)d] + [2a + (n - l)d] + ... + [2a + (n - l)d] + [2a+ (n - l)d] 2S = '------------v--~------=-----=---_:____:___, ( n <rt<{ '5Il~) 

~ 2S = n [2a + (n - I) d] 

n 
~ S = 2 [2a + (n - I) d] 

~ 1.£11,l }!~1~ ~~ ~~ n'm ~ 811~ ~~ 
n 

S = 2 l 2a + (n - 1) d] 

'51"~~ S = n (a + a ) 2 n .... (3) 

~~. ~ )1~1~<1 ~"JiK!it&~ ~ nm ~ ~ <.~f!)?-11 ~~ a = I ~ I ~ 9fq I 
II ' • 

~ (3)<{~ Cvf~<lm Ql 

n 
S = - (a+ I) 

2 ... . (4) 
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~>i~l~<l~~l!l~~~~~~~~~,~~~'f~~~~, 

c\!)~?-Jl l!l~'5llf{d,I ~ q<1<r~ I 

l!l~ ~~~~(.\!)~Nm~~ <11'-61 IB~c.cil~ ISfl UI~ ~~$! <ll<PD\!l ~~, 

~ ' ~'61?-J, ~( ... \Si-JlM--lMGi l<P~ ~ ~ ~ ~ ~~) ~ I 00, 150, 

200,250, ..... I 
. 

l!l~ l£lij'f >t~l~<l ~~ I ~ ~ 21 ~ \Si1IM--l\!l c.5ft5 (.~ ~ 1'<P1 ~WHIM G'ftt5f 

'5f~tk l!l~ >1~1~<1 ~MN)c'l,1<1 ~~ 21m ~ Qff~ tswBH<l G'Jtt5f, 

~ a = I0O, d=SO ~ n=211 

S = ; [ 2a + (n -1) d] ~ >i~?-1\!l 911'6 C<f 

S = ~I [ 2 x I 00 + (21- 1) x 50] = ~ I [ 200 + I 000] 

21 
= -x 1200 = 12600 

2 

~~ 21~ \Si'JIM--l\!l c.5ft5 (.~~ ~9fM'f 12600 I 

)j_~(.l,j<l <IM~Jt<I >i~Ptll<.Gt<l ~~ ~~ ~ ~<f)M(ftj (.--l ~? 

>i~1~ ~~ ~~ nm ~ C<lt~ 1_1St1<t'c:G1 S<r ~ Sn C<P1 <lM~<l ~ I >i~l~ 

~~ ~~ 20m ~ C<lt~ 1_iStl<tffel S20 ~~ I~~ nij'f ~ C<lt~ ~~ )[~c.Gt\5 

S, a, d~ n <.!I~~ <11fit IStN.,\!5 ~~I <Tfq \£j~(A)~c,l<!I ~<.<f5~f N)Hf,t ~~, 

(.'!)N)~j ~~~\SWBIM ~ I 

~ g <.£lijf >i~l~<!I ~~ ~~ nm ~ C<ff~ ~ ~~ (n - 1) ijf ~ 8Tf~ 

9/'f~ ~ >i~I~ ~~iN)<.GM n~ ~' '5T~~ an= Sn - Sn_ 1 I 

l!l~ ~ ~~1--l \St.tl~<!!r.i G'f\S I 

~<i'-1 JI g 8, 3, -2, .... ~~ >i~1~<t ~bi~<.Gt<l ~~ 22 ijf ~ C<ll~ \wr'8~ I 

~f~~ g~ , a= 8, d = 3 - 8 = -5, n = 22. 

'51mt ~ C<f' 

S = ~ [ 2a + (n - 1) d] 
2 

~ . S = ~ [16+21 (-5)] = I 1(16- 105) = 11(- 89) = - 979 
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~ , ~ APCGR ~$1 22Ul ~ C<Tt~ -979 I 
~rft~if~ 12: l!lut A~ ~$l l 4Ul ~ C<Tt~ 1050 ~ ~$1 ~ 10, ~ 20~ ~ 
~~I 

~~ 9 ~ S = 1050 n = 14 a= 10. "1-tl"'-t!-, ;; -(~I':}, 14 ' ' 

~' Sn= ;[2a+(n-l)d], 

~' 1050 = 
14

[20+ 13d] = 140 + 91.J 2 

~~~ 910 = 91d <rt d = 10 
~~~, a = 10 + (20-1) x 10 = 200, ~~~ 20~ ~ 200 I 

20 r.x"<'li"::-rr.t ~ ~ 'l;w~~ 13 ~ 24, 21, 18, .... l!l~~~l~ ~51N>c&l<l ~~1--1tt ~G'f~~'!l-1 C<Tt~ 78 
~'<f? 
~lfM g ~'a= 24, d = 21 - 24 = -3, Sn= 78, 
~ l!lfwr n \5~ ~t<I ~'l'f I 

S = l:[2a + (n - l)d] 
n 2 

78 = ~[48+(n-l)(-3)] = ~[51-3n] 2 2 
3n2 

- 5 ln + 156 = 0 

112 
- 1711 + 5 2 = 0 

(n - 4)(n - 13) = 0 
<rt n=4 <rt 13 

n~ l!l~~~~~5fJ I~~~,~ 4 ~~ 131 
~: 

1. \!)~ ~ , ~$1 4ut ~ C<Tt~ = ~~ 13~ ~ C<Tt~ = 78 
2. ~~\S~<M_~~ffi~9f~~~~ 13~~ C<Tt~~I 

\!I~ ~ffi't ~i, C<l~ a~~ d ~~ ~ ~~t--1 ~ ~ 
~'.q ~ ~~t~ ~~ ~ ~ ~&!<?\'& <l'l<l I 

1a~f~◄~ 14 ~ C<Tt~ ~'rn ~ ~ 
(i) ~~ lOOOut ~~~~,~ (ii) ~~ n~ ~~~,~ 

~~; 



( i) ~ ~'G, S = 1 + 2 + 3 + . . . + 1 000 

~~, ~1,f AP~~~ n1,f ~ c<rt~~ Sn= ; (a+l) <IJ~~~ 9ff'6 

1000 
SIOOO = -2- (1 + 1000) = 500 x 1001 = 500500 

~ ~~ I OOOij'f ~ ~ ~,ffl C<ft~ 500500 I 

(ii) ~ ~'G,, S
11 

= 1 + 2 + 3 + ... + n 

~ a = 1 ~ '51~ ~ ~ ~ n I 

C?1~1~9, S = n (1 + n) <TT S = n (n +l) 
n 2 n 2 

~ ~~ nm ~'ii~ '51~ ~,ffl C<ft~ ~'<f 

S = n(n + 1) 
n 2 
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1'5tl~~f 15 ~ ~~ ~,~ \!)1WJ~1<{ ~~ 24ij'f ~ C<ft~ ffl~ fl <TM n~ ~ 

a = 3 + 2n 
n 

~f'f~ g ~(.~~' a,, = 3 + 2n, 

~ a =3+2=5 
1 

a =3+2x2=7 
2 

G =3+2X3=9 
3 

~~,~ '!)jW)~t~~'<f 5, 7, 9, 11, . .. 

~' 7- 5 = 9-7 = 11-9 = 2~~~C'if ~I 

~ '!)jWj~f~ ~1,f AP~ ~MG~~~~~'t~ d= 2 

~f?5m, s24 f.t'rn ~M<I~ <!Wq~ n = 24, a= 5, d= 2 

~ s = 24 [2x5+(24-l)x2] = 12(10 + 46] = 672 
' 24 2 

~ ~,~ '!)jWJ~t~ ~~ 24ij'f ~ C<ft~ 672 I 

l.f~~ 16 ~ ~m ~ ~ 1Ee_~ ~01JR'if '{)'5h1 ~ 6001'I ~ ~~ ~ 

100m ~~e_9ffvM ~M(frl, ~K!)<l~(.<l1Ee_9ffvM ~m f.nira~,~ ~~~~~ 8!Kli~ 

~ \!)cij\!) ~ f.t'rn flg 
(i) ~~~1Ee_9f'fvM (ii) ~~1Ee_9ffvM 

(iii) ~~~~~1Ee_~ 
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~$~~ (i) ~~~~~~~~~~\~>J:~.i~~<f@~.~~~. 
~ . ~ ..... ~ <1~ Riil1<p~ ~ ~~~~~\~l!l~ AP~~ I 
~ n~~~~~~~~,~a I 

n 

c~~{l~~. a
3 

= 600 ~ a
7 

= 700 
~ a+ 2d= 600 
~ a+6d= 700 
1!1~>1~~<1~~~~~91W, d=25 ~ a= 550. 
: . ~~~~~~~~~~\~5501 

(ii) l!l~ a
10 

=a+ 9d= 550 + 9 x 25 = 775 
~~~~~~~~~~\~775 

7 (iii)~~. S
7 
= 2[2x550+(7-I)x25] 

7 
= 2 [1100 + 150] = 4375 

l!l~~~~~~~~~~ ~~\~ 43751 

·~~.3 
1. ~>i.i1~ ~'>IR>>i~~<I C<TI~~~~ ~ 

(i) 2, 7, 12, .... (lout~) (ii) -37, -33, -29, ... , (12 m ~ ) 
(iii) 0.6, 1.7, 2.8, ... , (lOOUl ~)(iv) _l , _l , _l ... (11~ ~) 

15 12 10 ' ' 
2.~C<TI~~~~~ 

(i) 7 + 10½ + 14 + . . . + 84 (ii) 34 + 32 + 30 + . . . + 10 
(iii) -5 + (-8) + (-11) + ... + (-230) 

3. -!I~ >!~1~<1 ~~ 

(i)Nm~a=5,d=3,an=50, n~S ~~ 
(ii) Nm ~a= 7, a

13 = 35, d~ S
13 
~~ 

(iii) Nm~a12 = 37, d= 3, a~ S
12 
~~ 

(iv) Nm~a3 = 15, s10 = 125, d~ alO ~~ 
(v) Nm ~d = 5, S9 = 75, a~ a

9 
~~ 



(vi)Mli~a = 2, d=8, S
11
=90,n~a ~\Sm 

(vii) Mli ~a= 8, an= 62, Sn= 210, n $ d~'8m 

( viii) Mli ~ a = 4 d = 2 S = -14 11 ~ a ';:;•-~•\a:;;ri 
11 ' , 11 , ~,~ \::,l<.'"J'-'~1 

(ix) Mli ~a = 3, n " 8, S = 192, d~\Sm 

(x) Mli ~I = 28, S = 144, ~ ~ ~ '$f\~ 9; u ~'8~ I 

4. 9, 17, 25, ... . <.!)~ >1~1~--1 ~b1Rbt'G1<t MS~l~'Gt ~ C<TI~ 636 ~~? 

149 

5. l!l~>t~1~~~~~~ 5,~~45~81l~4001~~~,~~ 

~~'l ~ frl'fir fl l 

6. lfl~AP<t~~~~~~~ 17~3501~~~~'1~9, 

~AP~n9iVf~Pt~~~c<rt~n? 

7. l!l~ AP--1 d = 7 ~ 22~ ~ 149 ~~~ ~~ 22 U1 ~ 8ft~ f4'RT 
~l 

8. l!l~ AP<t ~~~ ~ ~ ~ ~ 14 ~ 18 ~~ ~~ 51Ul ~ C<Tf~ 
~~I 

9. l!l~ AP<t ~~ 7U1 ~ C<Tf~ 49 ~ ~~ 17Ul ~ 8ft~ 289, AP~ 

~~ n~ ~ C<Jl~ ffl\S~ I 
10. Of'18~ C<J, a,, a

2
, •••• ,a,,, .... 91t.t>t~l~l!IU1 AP~~~ a,, <p~~~ 

~,~~~ 

(i) a = 3 + 4n (ii) a = 9 - Sn 
n n 

G'f~, ~ ~ ~~ 15Ul ~ C<Jl~~~ I 

1 t. ~ l!)ij"f AR~~ nm~ 81l~ 4n - n2, ~~~~~(SI)~?~~ 
~~~~~?N~~?~l<P'tl~,~'51~,~~n~9l'tl<p~GI 

R'ffi~ I 
12. 6C<f M~~ fJ~ 40ij°f ~ '51'~~ ~,~ C<TI~ f4'fir ~ I 
13. ~~ 15Ul 8--1~~ C<rt~f4'rn~ I 
14. 0 ~ 50--1 ~ ~"if ">t~:~IJIMGil<P~ C<ft~ f4'fir fl l 

1 s. l!)ij°f ~'1 ~ ~ ~'1--1 ~ l!lm f4~ ~~ ~ ~zyf ~ G'f'itf 

ISTM~s-!l l!l~~'l--1 ~ fJ~ ~ 200 ~' N ~ 250 ~' ~'61~ ~ 300 ij<P'f 
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~~Jtfq 1"5T~fk~ ~~ 1Stf.h1.:it ~~ fq.:i~t<P S0V<:lSt ~I~ 
-£1~ <Pt~c.Gt 30 ~ 91f:i~{<:p ~9 <PMCfrl, ~'1 ~ ~"'t.:i ~ isrf.h :1--n ~ 
~ I 

16. -fl~ M11Jtf:i $11 ~ ~ J.t<Pfii<P M11JHl~H<P c~~~ 01~-e-m ~ <ltt<l ~ 700 

~ ~ ~~ ffl ~ m G'f'm ~~ I~~ 9l<t~l<1<1 ~ ~ '5f15i<tc.Gt'!>'t<P 

20 ~ ~ ~ ' (.~(.---1~~ ~ 9:J~~M<I ~~'Bl ~ I 

17. -fl~ Ml1J1f:1$l1 $-~.m)l<:p(.fii ~ $pl9 (.11~ \S(.ijf~j M11J1G'HM CITT~ 1~C.~19f9 

<PM<q'tf:i ~ <PM(.fii I ~~ ~~~ ~ ~~ C<l ~ ~~ ~ "'11~91<1t 
~~ 9i1?l ~~~,~ 1~C.<lt919 ~ I ~~91 ~~ ~~-Q~ 
-xtr~-£1"(.ISfi?ft, ~~$1 ~~~mxt1~~9ft~tM't<P c9\ c>i~"fc.~~ ~~Gic.<P 

~<.11919~ 1~~~~H1'fC<P~~I~-~~~ 
C'8f191t ~ <.1191~ ~ ? 

18. ~ 5.4~ ~-e~~ 0.5 ~~-, 1.0 CD.~., 1.5 CD.~., 2 .0 C5.~ . . .. . . ~~ 
~1~~<P~~ ~ ~ "5T~ ~ -QT& ~~ >IQSf~ ~'G1 I -Q~ ~(1'6C.q1<t~ 
~A~~I~~~~~~~ A , B~~I 13~-Q~lM~Ol ~ 

"5T(1'8<t~Mt ~ ~~ ~m ~~ ~ ~ ~? ( ~ n = 2~ ) 

WJi s.4 

~~~ g '511-;[~~<P'6tc◄4 ~ ~~'8J.f~~ ~ l l l "' 
~ A, B, A, B, ..... ] ·p 2 ' . v !4, ····· ~~!z~<t ~ 
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19. 200 ~ ~ 1!1Cs-!l'fC1 ~ ~~ g 20 ~ ~<.<P<l~ ~ -xn~~, ~ ~ 

~ 19~,~~ 18~j~~J!M 1(~ 5.5 CDKTT) l200~~~ 

~n~~ JiCSrt~1 ~'G, ~ 1!1C<P<1te1 '6~ ~ C<P~1<11 ~ ~? 

~5.5 

20. ~~~~~~~~~~~c.~~~<11PGc.Ut~~ 

'6ll~c.G~~ s -fir. '51l~<1'!) ~I~~~ 3 fir. '611~e1 '5f1~C1 '611--JMiil l<P 

~~I~~ 10Ul~~1(~5.6 CDKTT)I 

fi,~ 5.6 

~~ ~~<TIM,c.&~~9Rt ~C5f ~C<fxllC~ '6~ C9f1m'5l!i;j_c.GI ~ ~ 

ts~N) 6rtR ~ ~!Gfc.'Gt <i1Ptc.'G~ ~ c~ ~ Cffl c5f '6~ ~ ~ '5f1Gfc.G1 

~ ~ '5JIC<fl ~~N) OOR ~ ~C<P'1C<I <l!P&c.'G~ '<rn I ~~ ~ ~ ~ 

~ '5flGj_c.GI'{; <itPGc.'Gt~ '<rn I ~~ ~ ~ ~ OOffi G'f5fi ~? 

~~ i ~~ ~ ~\51$lc.&1 ~ 41c,f&l<1~iil ~~ ~ ~ °G15fi 

~ (~j<1'!)) ~'G, 2 X 5 + 2 X (5 + 3)] 

~a;~n s.4 (~~)* 

1. 121, 117, 113, .. ... , Iii~ Ji~!~ ~51N5c.GM ~~ ~~ ~~Jf,~ 9fvf ? 

~mg n ~\Sm C.<J~{ll an < 0] 

2. ~utAR~\51$l ~Jf~9fvM 8ff~ 6~ Pl~\!5<1 ~~ 8;~~APCG'f<f~~ 

16Ul 9fvM 8ff~~'6m I 

* ~~~iil~ c.GI 9l41~M ~~C<Pl .. "R~ ~ I 
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3. \fl~~ -IG1lf¾G11<f) 25 CD.1i!. '5TI\!>C.<I ~ 

~ (ITTI 5.7 C6Kft) I lflc.<fS<ttc.<t ~ ~ 

-l~\SIG1<1 ~ 45 CD.1i!. ~ ~ ~1f;jRG11<fS<I 

ffl >pl~l~fc.~ ~ ffl C~ ~c.<fS<Hc.<I '6~ 

4WI\S1G1<1 ffl ~ 25 CD.1i!. I~ ~c.<fS<ttc.<1' ~~ 

I 
4WI\SIG1<191<11 \fl(.<fx!tc.<l'~-lf;j\SjG'j<I ~ 22 

~-~ ~~~f;jf<tG11<P<I ~'1~~~ 

Of<U~? 

~mg~,i,~= 250+ 1> 
25 

4. lfl1'1 ~ ~ '<l<IMGil<ts\!l I <1 91<11 :490, 

tJ .................. . 
' l 

' ' I r 
I I 

' I 
t I 
I l 21~-, 

' I 

~5.7 
~~<P~~~~~~ I~~ c.<r ~\fl~ 

l!l1'1~~<.ltt\!lx~~~~~~ ~~<1f<IG11<ts<1 C<!t~~~ 

~ --1 ~<1Miit1<P<I (.<fl~~ I ~ ~ ~'rn fl I 

~m : s X - 1 = s 49 - s.J 

5. \fl~~ C~91~ <15,~l&l<l ~ \fl~ C5'JG1!~\!l 151)1 U19f ~~ ~ 

11191'1 M 501'1. I ~ 1il91c<! ~ i 1>1. ~ ~ ½ 1>1. (Will 5. 8 CoR!l) I ~ 
C"iiiil~l&I ~f@t<ttiil "f~ <IS,~ ~ '¢1Hl\!lil ~'rn fl I 

~~ g ~$f l,l?fNt ~(@f4CG4 '1~ <fS,~ '5lt~~it ~ ~ X ; X 50 m3 ] 
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5.5 ~~ (Summary) 

~~~~ <.'-'~1<.ciilc~ ~ ~ ~~tc.~~Ut ~~ ~ g 

1. ~GI >i~l~<l ~~ ~~~ ~,~ ~~ \!51~~1 ~ ~~ 9Jqc.'Gl~ ~ 1ir ~ ~ 

~ ~'iR ~ G'f'if\!5 ~Gt ~,~ d C<rt'if ffl C9fR!l <THl I ~~ ~ ~,~ ~ 

~~'1 ~ ~ · I ~Gt AP<l ~~'1 ~ ~'a, a, a + d, a + 2d, a + 3d, .. ... 

2. al' a 2 , av . ... . ~,~1f<lciil~<l '\51~~1~ AP ~'<!" ~~l~ a
2 

- a l' a, - a
2

, 

a4 - Cl_v ..... <£ ~ ul~ ~'~~~Bl~~ <m<f ak -1 i - ak ~~~ I 

3. ~1'1 AR~~~ a~~~"I~ d~~~ n~ ~ (<1"1~~'19flrr.&1) 

~'<I an=a+(n-l)d. 

4. ~1,l AR 111'1 ~ C<rt'if<PiilC.&1 ~~ S = ~[2a + (n - l)d] 
2 

5. ~ ~Gt AP<£~~(~ Cii1Kl1 n~ ~) I~ ~ AP~ ~~lc1I ~ 

. , •a~ . ' . <- _, . • •; ··~ l ·,., '' . : . :_ .. 

~~:.~ · _ i~b_rr1etic_.¥1:~an) _c_~ _:I · 


